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4.
２
次
関
数
（
２
）

問
1

y
=

a
x
2
に
つ
い
て
、
x
の
値
が

3
か
ら

8
ま
で
増
加
す
る
時
の
変
化
の
割
合
が
−4

4
で
あ
る
時
、
以
下
の
問
に
答
え
な
さ
い
。

(1
)
x
=

3
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(2
)
x
=

8
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(3
)
a
の
値
を
求
め
な
さ
い
。

問
2

y
が

x
の

2
乗
に
比
例
し
、
x
の
値
が

3
か
ら

8
ま
で
増
加
す
る
時
の
変
化
の
割
合
が

2
2
で
あ
る
よ
う
な
関
数
の
式
を
求
め
な

さ
い
。

問
3
　

y
=

a
x
2
で
、
x
の
変
域
が
−6

�
x
�
−2
で
あ
る
と
き
、
y
の
変
域
が

8
�

y
�

7
2
と
な
り
ま
し
た
。
a
の
値
を
求
め
な

さ
い
。

問
4
　

y
=

a
x
2
で
、
x
の
変
域
が
−6

�
x
�
−2
で
あ
る
と
き
、
y
の
変
域
が
−1

0
8
�

y
�
−1

2
と
な
り
ま
し
た
。
a
の
値
を
求

め
な
さ
い
。

ht
tp

://
ka

m
in

od
ri

ll.
sa

ku
ra

.n
e.

jp
/

　
か

-6
17

11
09

10

c ©
か
み
の
ド
リ
ル

ht
tp

://
ka

m
in

od
ri

ll.
sa

ku
ra

.n
e.

jp
/

1.
２
次
関
数
（
２
）

問
1

y
=

a
x
2
に
つ
い
て
、
x
の
値
が
−2
か
ら

3
ま
で
増
加
す
る
時
の
変
化
の
割
合
が
−1
で
あ
る
時
、
以
下
の
問
に
答
え
な
さ
い
。

(1
)
x
=
−2
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(2
)
x
=

3
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(3
)
a
の
値
を
求
め
な
さ
い
。

問
2

y
が

x
の

2
乗
に
比
例
し
、
x
の
値
が
−4
か
ら

0
ま
で
増
加
す
る
時
の
変
化
の
割
合
が

4
で
あ
る
よ
う
な
関
数
の
式
を
求
め
な

さ
い
。

問
3
　

y
=

a
x
2
で
、
x
の
変
域
が
−5

�
x
�
−2
で
あ
る
と
き
、
y
の
変
域
が

1
2
�

y
�

7
5
と
な
り
ま
し
た
。
a
の
値
を
求
め
な

さ
い
。

問
4
　

y
=

a
x
2
で
、
x
の
変
域
が
−6

�
x
�
−1
で
あ
る
と
き
、
y
の
変
域
が
−9

�
y
�
−

1 4
と
な
り
ま
し
た
。
a
の
値
を
求

め
な
さ
い
。
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2.
２
次
関
数
（
２
）

問
1

y
=

a
x
2
に
つ
い
て
、
x
の
値
が

1
か
ら

5
ま
で
増
加
す
る
時
の
変
化
の
割
合
が
−1

8
で
あ
る
時
、
以
下
の
問
に
答
え
な
さ
い
。

(1
)
x
=

1
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(2
)
x
=

5
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(3
)
a
の
値
を
求
め
な
さ
い
。

問
2

y
が

x
の

2
乗
に
比
例
し
、
x
の
値
が

0
か
ら

3
ま
で
増
加
す
る
時
の
変
化
の
割
合
が
−9
で
あ
る
よ
う
な
関
数
の
式
を
求
め
な

さ
い
。

問
3
　

y
=

a
x
2
で
、
x
の
変
域
が
−3

�
x
�

1
で
あ
る
と
き
、
y
の
変
域
が

0
�

y
�

9 4
と
な
り
ま
し
た
。
a
の
値
を
求
め
な

さ
い
。

問
4
　

y
=

a
x
2
で
、
x
の
変
域
が
−5

�
x
�

2
で
あ
る
と
き
、
y
の
変
域
が
−

2
5 2

�
y
�

0
と
な
り
ま
し
た
。
a
の
値
を
求
め

な
さ
い
。
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3.
２
次
関
数
（
２
）

問
1

y
=

a
x
2
に
つ
い
て
、
x
の
値
が
−5
か
ら
−3
ま
で
増
加
す
る
時
の
変
化
の
割
合
が
−2

4
で
あ
る
時
、
以
下
の
問
に
答
え
な

さ
い
。

(1
)
x
=
−5
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(2
)
x
=
−3
の
と
き
の

y
の
値
を
、
a
を
用
い
て
表
し
な
さ
い
。

(3
)
a
の
値
を
求
め
な
さ
い
。

問
2

y
が

x
の

2
乗
に
比
例
し
、
x
の
値
が
−3
か
ら

1
ま
で
増
加
す
る
時
の
変
化
の
割
合
が

1 2
で
あ
る
よ
う
な
関
数
の
式
を
求
め

な
さ
い
。

問
3
　

y
=

a
x
2
で
、
x
の
変
域
が
−4

�
x
�
−1
で
あ
る
と
き
、
y
の
変
域
が

1
�

y
�

1
6
と
な
り
ま
し
た
。
a
の
値
を
求
め
な

さ
い
。

問
4
　

y
=

a
x
2
で
、
x
の
変
域
が

2
�

x
�

6
で
あ
る
と
き
、
y
の
変
域
が
−7

2
�

y
�
−8
と
な
り
ま
し
た
。
a
の
値
を
求
め
な

さ
い
。


